Beloslav Riečan An Extension of the Daniell Integration Scheme

Matematický časopis, Vol. 25 (1975), No. 3, 211--219

Persistent URL: http://dml.cz/dmlcz/126405

Terms of use:

© Mathematical Institute of the Slovak Academy of Sciences, 1975

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz

AN EXTENSION OF THE DANIELL INTEGRATION SCHEME

BELOSLAV RIEČAN

The well known Daniell integration scheme can be applied simultaneously to a measure and an integral. An integral and a measure can namely be regarded as functions on partially ordered sets: the integral on a set of functions, the measure on a set of sets. An extension theory for functions on partially ordered sets can be constructed in such a way that integration and measure extension theories are its special cases.

It is known that the measure extension theory can be deduced from the Daniell integration theory, but from the general extension theory we can get not only the classical two cases. We can obtain also a measure extension theory for Boolean σ -algebras (and sometimes even for certain classes of non-distributive lattices) and on the other hand a Daniell integration theory for σ -complete lattice ordered groups. Hence the mentioned method is very economical. These facts are well known (see e. g. [1], [2], [3]).

In the paper we present an improvement of the mentioned results. We want to get not only a theorem on the extension of measures, but also a theorem on the extension of so-called subadditive measures (i. e. subadditive and upper and lower semicontinuous set functions). Of course, simultaneously we get a theory of subadditive integrals.

In comparing with the preceding papers ([2], [3]) we assume less about the original function and we prove less about the extension. In the theory presented here we need a more elaborate structure on the domain of the studied functions, but the proofs are more simple.

In what follows we denote by \cup , \cap or \bigcup , \bigcap , resp. the lattice operations. If $a_n \leq a_{n+1}$ (n = 1, 2, ...) and $a = \bigcup_{n=1}^{\infty} a_n$ is the least upper bound of $\{a_n\}_{n=1}^{\infty}$, then we write $a_n \nearrow a$. The symbol $a_n \searrow a$ has an analogous meaning.

1. General theory

We start with a conditionally σ -complete lattice S with two further binary operations +, - and we list axioms. (If S is a lattice of real-valued functions,

then +, - are the usual sum and difference of the functions; if S is a lattice of sets, then +, - are the set theoretical union and difference.)

- 1.1. + is associative and commutative.
- 1.2. There is an element $0 \in S$ such that x x = 0 for every $x \in S$.
- 1.3. If $a \le x \le b$ and $c \le y \le d$, then $a - d \le x - y \le b - c$, $a + c \le x + y \le b + d$, $(b - c) - (a - d) \le (b - a) + (d - c)$, $(b + d) - (a + c) \le (b - a) + (d - c)$, $b - a \le (b - x) + (x - a)$.
- 1.4. If $a \ge c$, $b \ge d$, then $a \cup b - c \cup d \le (a - c) + (b - d)$, $a \cap b - c \cap d \le (a - c) + (b - d)$.
- 1.5. If $a_n \nearrow a$, $b_n \nearrow b$, then $a_n + b_n \nearrow a + b$, $a_n \cap b_n \nearrow a \cap b$.
- 1.6. If $a_n \searrow a$, $b_n \searrow b$, then $a_n + b_n \searrow a + b$, $a_n \cup b_n \searrow a \cup b$.
- 1.7. If $a_n \nearrow a$, $b_n \searrow b$, then $a_n - b_n \nearrow a - b$, $b_n - a_n \searrow b - a$.

Now let A be a sublattice of S closed under the operations + and -. We also assume that to any $x \in S$ there are $a_n, b_n \in A$ such that $\bigcup_{n=1}^{\infty} b_n \in S$, $\bigcap_{n=1}^{\infty}$

$$a_n \in S$$
 and $\bigcap_{n=1}^{\infty} a_n \leq x \leq \bigcup_{n=1}^{\infty} b_n$.

Further let $J_0: A \to R$ be a function satisfying the following axioms.

- (i) $J_0(a+b) \leq J_0(a) + J_0(b)$ for all $a, b \in A$.
- (ii) $J_0(b) \leq J_0(b-a) + J_0(a)$ for all $a, b \in A$.
- (iii) $a \leq b \Rightarrow J_0(a) \leq J_0(b)$ for all $a, b \in A$.
- (iv) If $a_n > 0$, $a_n \in A$ (n = 1, 2, ...), then $\lim J_0(a_n) = 0$.
- (v) If $a_n \leq a_{n+1} \leq x \in S$, $a_n \in A$ (n = 1, 2, ...) and $\{J_0(a_n)\}_{n=1}^{\infty}$ is bounded, then $\lim_{n \to \infty} J_0(a_{n+1} - a_n) = 0$.

From (iv), 1.2, 1.7 and (ii) we get

$$a_n \nearrow a, a_n, a \in A \ (n = 1, 2, \ldots) \Rightarrow J_0(a_n) \nearrow J_0(a),$$

 $b_n \searrow b, b_n, b \in A \ (n = 1, 2, \ldots) \Rightarrow J_0(b_n) \searrow J_0(b).$

The further extension process is described in the following definition. (Of course, we shall have to prove that the definitions of J^+ , J^- and J are correct.)

Definition. We put $B = \{b \in S; \exists a_n \in A, a_n \nearrow b\}, C = \{c \in S; \exists a_n \in A, a_n \searrow c\}$. Further we define $J^+: B \rightarrow R \cup \{\infty\}, J^-: C \rightarrow R \cup \{-\infty\}$ by the formulas

$$J^{+}(b) = \lim_{n \to \infty} J_0(a_n), \text{ where } a_n \nearrow b,$$

$$J^{-}(c) = \lim_{n \to \infty} J_0(a_n), \text{ where } a_n \searrow c.$$

Finally we put

$$L = \{x \in \mathcal{S}; \forall \varepsilon > 0 \exists b \in B, c \in C, c \leq x \leq b, J^+(b-c) < \varepsilon\}$$

and we define $J: L \rightarrow R$ by the formula

$$J(x) = \inf \{J^+(b); b \ge x, b \in B\}$$

Lemma 1. If $a_n \nearrow a$, $b_n \nearrow b$, $a_n, b_n \in A$ $(n = 1, 2, ...), a \leq b$, then

$$\lim_{n\to\infty} J_0(a_n) \leq \lim_{n\to\infty} J_0(b_n).$$

Proof. According to 1.5 and 1.7 we have

$$a_m \cap b_n \nearrow a_m \quad (n \to \infty)$$

and

$$a_m - a_m \cap b_n > 0 \quad (n \to \infty).$$

Hence according to (ii) and (iii) we obtain

$$0 \leq J_0(a_m) - J_0(a_m \cap b_n) \leq J_0(a_m - a_m \cap b_n)$$

and with respect to (iv)

$$\lim_{n\to\infty} (J_0(a_m) - J_0(a_m \cap b_n)) = 0.$$

Therefore

$$J_0(a_m) = \lim_{n \to \infty} J_0(a_m \cap b_n) \leq \lim_{n \to \infty} J_0(b_n).$$

Evidently, an analogous assertion to Lemma 1 holds also for the set C. These assertions show that the definitions of J^+ and J^- are correct. **Proposition 1.** B and C are sublattices of S closed under the operation +. The functions J^+ , J^- are increasing. For any $b_1, b_2 \in B$ and $c_1, c_2 \in C$ the following inequalities hold

$$J^+(b_1+b_2) \leq J^+(b_1) + J^+(b_2), \, J^-(c_1+c_2) \leq J^-(c_1) + J^-(c_2)$$
 .

If $b \in B$, $c \in C$, then $b - c \in B$, $c - b \in C$ and

$$J^{+}(b) \leq J^{+}(b-c) + J^{-}(c), \ J^{-}(c) \leq J^{-}(c-b) + J^{+}(b)$$

Finally, if $b_n \in B$, $b_n \not\supset b$, $c_n \in C$, $c_n \searrow c$, then $b \in B$, $c \in C$ and there are $k_n \in A$, $m_n \in A$ such that $k_n \leq b_n$, $m_n \geq c_n$ and $k_n \not\supset b$, $m_n \searrow c$.

Proof. We prove only the last assertion for B, the other assertions being easy. By the definition of B there are $a_n^m \in A$ such that $a_n^m \nearrow b_n \ (m \to \infty)$. Put $k_n = \bigcup_{i=1}^n a_i^n$. The sequence $\{k_n\}_{n=1}^{\infty}$ has all the desired properties. The sequence $\{m_n\}_{n=1}^{\infty}$ can be constructed similarly.

Proposition 2. L is a sublattice of S closed under the operations + and -. J is finite on L and $J(x) = \sup \{J^{-}(c); c \leq x, c \in C\}.$

Proof. The first assertion follows from 1.3 and 1.4. For proving the second assertion take $b \in B$, $c \in C$ such that $c \leq x \leq b$ and $J^+(b-c) < \varepsilon$. Then

 $J(x) \leq J^+(b) \leq J^+(b-c) + J^-(c) < \varepsilon + J^-(c) < \infty .$

Similarly $J(x) > -\infty$, since

$$J(x) \geq J^{-}(c) \geq J^{+}(b) - J^{+}(b-c) > J^{+}(b) - \varepsilon > -\infty$$

Further

$$egin{array}{ll} J(x) \, &\leq \, J^+(b) \, \leq \, J^+(b-c) \, + \, J^-(c) \, \leq \ &\leq \, arepsilon \, + \, \sup \, \{J^-(c) \, ; \, \, x \, \geq \, c \in C\} \; , \end{array}$$

hence

$$J(x) \leq \sup \{J^{-}(c); x \geq c \in C\}.$$

On the other hand

$$J^{-}(c) \leq J^{-}(c-b) + J^{+}(b)$$

for arbitrary $c \in C$, $b \in B$ such that $c \leq x \leq b$. Since $c \leq b$, i.e. $c \leq c \leq b$, $b \leq b \leq b$, we have according to 1.3 $c - b \leq c - b \leq b - b = 0$, hence according to Lemma 1 and (iv)

$$J^{-}(c-b) \leq J^{-}(b-b) = J_{0}(0) = 0$$

214

Therefore

$$J^{-}(c) \leq J^{+}(b), J^{-}(c) \leq \inf \{J^{+}(b); x \leq b \in B\} = J(x)$$

and hence

$$\sup \{J^{-}(c); x \ge c \in C\} \le J(x).$$

Lemma 2. If $k_n \in A$, $k_n \nearrow b$ and $\{J_0(k_n)\}_{n=1}^{\infty}$ is bounded, then $\lim_{n \to \infty} J^+(b - k_n) = 0$.

Proof. Indirectly, let there exist such $\varepsilon > 0$ that for any n

$$J^+(b-k_n) > \varepsilon$$

Since $k_m - k_1 \nearrow b - k_1$, there exists by Definition an $m_2 > 1$ such that

$$J_0(k_{m_2}-k_1) > \varepsilon .$$

Similarly there exists an $m_3 > m_2$ such that

$$J_0(k_{m_3}-k_{m_*})>\varepsilon\;.$$

Continuing the process we obtain a sequence $k_1 \leq k_{m_2} \leq k_{m_3} \leq \ldots$ such that $\{J_0(k_{m_n})\}_{n=1}^{\infty}$ is bounded, but

$$\lim_{n\to\infty} J_0(k_{m_n}-k_{m_{n-1}})\neq 0$$

which is a contradiction to (v).

Proposition 3. Let $x_n \in L$ $(n = 1, 2, ...), x_n \nearrow x$ and $\{J(x_n)\}_{n=1}^{\infty}$ be bounded. Then $x \in L$ and $J(x) = \lim_{n \to \infty} J(x_n)$.

Proof. Let ε be an arbitrary positive number. Take $a_n \in A$ such that $x \leq \bigcup_{n=1}^{\infty} a_n = d$. Take $b_n \in B$, $c_n \in C$ such that $b_n \geq x_n \geq c_n$ and $J(b_n - c_n) < < \varepsilon/2^n$. We can assume that $b_n \leq d$. Further put $p_n = \bigcup_{i=1}^n b_i \in B$, $q_n = \bigcup_{i=1}^n c_i \in C$. Then $q_n \leq \bigcup_{i=1}^n x_i = x_n \leq p_n$ and

$$J^{+}(p_{n} - q_{n}) = J^{+}(\bigcup_{i=1}^{n} b_{i} - \bigcup_{i=1}^{n} c_{i}) \leq \\ \leq J^{+}((b_{1} - c_{1}) + (b_{2} - c_{2}) + \dots + (b_{n} - c_{n})) \leq \\ \leq \sum_{i=1}^{n} J^{+}(b_{i} - c_{i}) < \varepsilon .$$

215

Since $b_n \leq d$ (n = 1, 2, ...), there exists $\bigcup_{n=1}^{\infty} b_n = b$; moreover $p_n \nearrow b$. According to Proposition 1 there are $k_n \in A$ such that $k_n \leq p_n$, $k_n \nearrow b$. We get $b - k_n \searrow 0$, $b - k_n \in B$. Further

$$J^{+}(b) = \lim_{n \to \infty} J_{0}(k_{n}) \leq \lim_{n \to \infty} J^{+}(p_{n}) \leq$$
$$\leq \sup_{n} J^{+}(p_{n} - q_{n}) + \sup_{n} J^{-}(q_{n}) \leq$$
$$\leq \varepsilon + \sup_{n} J^{-}(q_{n}) \leq \varepsilon + \sup_{n} J(x_{n}) < \infty$$

Therefore according to Lemma 2

$$\lim_{n\to\infty} J^+(b-k_n)=0.$$

Further

$$J^{+}(b - q_n) \leq J^{+}((b - p_n) + (p_n - q_n)) \leq$$
$$\leq J^{+}(b - p_n) + J^{+}(p_n - q_n) =$$
$$= J^{+}(b - k_n) + J^{+}(p_n - q_n) < 2\varepsilon$$

for sufficiently large n. Since $b \in B$, $q_n \in C$, $q_n \leq x \leq b$ and ε was an arbitrary positive number, $x \in L$.

Evidently $J(x_n) \leq J(x)$ for every *n*, hence $\lim_{n \to \infty} J(x_n) \leq J(x)$. On the other hand

$$J(x) \leq J^{+}(b) \leq J^{+}(b-q_{n}) + J^{-}(q_{n}) \leq J^{+}(b-k_{n}) + J(x_{n})$$

from which

$$J(x) = \lim_{n\to\infty} J(x_n) .$$

Note that also the dual assertion to Proposition 3 holds.

Theorem. There is a lattice $L \,\subset S$ containing A and closed under the operations +, - and there is a function $J: L \to R$, that is an extension of J_0 such that J satisfies the properties (i), (ii), (iv') and (iii). If $x_n \in L, x \in S, x_n \nearrow x (x_n \searrow x)$ and $\{J(x_n)\}_{n=1}^{\infty}$ is bounded, then $x \in L$ and $J(x) = \lim_{n \to \infty} J(x_n)$. If $I: L \to R$ is an extension of J_0 satisfying (iii) and (iv'), then I = J.

Proof. It suffices to prove the uniqueness. Put

$$N = \{x \in L; J(x) = I(x)\}.$$

216

By the assumption $N \supset A$. Moreover

 $N \supset \{b \in B; J^+(b) < \infty\}$.

Indeed, take $a_n \in A$ such that $a_n \nearrow b$. Then $J^+(b) = \lim_{\substack{n \to \infty \\ n \to \infty}} J(a_n) = \lim_{\substack{n \to \infty \\ n \to \infty}} I(a_n) < \infty$. Hence $I(b) = \lim_{\substack{n \to \infty \\ n \to \infty}} I(a_n) = \lim_{\substack{n \to \infty \\ n \to \infty}} J(a_n) = J^+(b) = J(b)$. Similarly

$$N \supset \{c \in C; J^{-}(c) > -\infty\}$$

Let $x \in L$. Then to any $\varepsilon > 0$ there is $b \in B$ such that $b \ge x$ and

$$J(x) + \varepsilon > J(b) = I(b) = I(x)$$

hence

 $J(x) \geq I(x)$.

Similarly there is $c \in C$ such that $c \leq x$ and

$$J(x) - \varepsilon < J(c) = I(c) \leq I(x)$$
,

hence

 $J(x) \leq I(x)$.

Therefore J(x) = I(x) for every $x \in L$.

2. Subadditive measures

A subadditive measure is a subadditive non-negative set function μ defined on a ring and upper semicontinuous in \emptyset , $\mu(\emptyset) = 0$. It can be easily proved that μ is upper and lower semicontinuous in any set and therefore it is also σ -subadditive.

Let S be the family of all subsets of a set X. S is partially ordered by inclusion. If we introduce $A + B = A \cup B$ as set-theoretical union and A - Bas set-theoretical difference, then S satisfies all assumptions of § 1. Let $A \subset S$ be such a ring that X can be covered by a sequence of sets of A. Let μ be a finite subadditive measure on A. The axioms (i), (ii), (iii) and (iv) are also evidently satisfied. The axiom (v) is equivalent to the following one:

If $E_n \in A$ (n = 1, 2, ...), E_n are pairwise disjoint and $\lim_{n \to \infty} (\bigcup_{i=1}^{n} E_i) < \infty$, then $\lim \mu(E_n) = 0$.

If the condition is satisfied, then according to the Theorem, μ can be extended

to a subadditive measure on the monotone system generated by A and this system contains the δ -ring generated by A.

The result is similar to a result by L. Drewnowski ([4], Theorem 7.2). Drewnowski extends a subadditive measure (in his terminology an order continuous submeasure) from a ring to the generated σ -ring, but his additional condition is a little more strict ($E_n \in A, E_n$ disjoint $\Rightarrow \lim_{n \to \infty} \mu(E_n) = 0$).

From our Theorem there follows the main result of paper [5] by V. N. Alexiuk and F. D. Beznosikov (theorem 5.1). It suffices to put in our theorem Sequal to a Boolean σ -algebra and A equal to a subalgebra of $S(a + b = a \cup b, a - b = a \cap b')$. The additional condition of Alexiuk and Beznosikov is the same as the Drewnowski condition, hence it is a little more strict than our condition (v). (Note that in [5] a subadditive measure is called a continuous outer measure.)

3. Subadditive integral

Let S be the a linear, conditionally σ -complete lattice of real-valued functions on a set X. Let $A \subset S$ be such a linear lattice that to any $f: X \to R$ there are $f_n, g_n \in A$ (n = 1, 2, ...) with $\inf_n f_n \leq f \leq \sup_n g_n$. Let $J_0: A \to R$ be a function satisfying the conditions:

(i) $J_0(f+g) \leq J_0(f) + J_0(g)$ for all $f, g \in A$.

(ii)
$$f, g \in A, f \leq g \Rightarrow J_0(f) \leq J_0(g).$$

(v) If $f_n \leq f_{n+1} \leq f \in S$, $f_n \in A$ (n = 1, 2, ...) and $\{J_0(f_n)\}_{n=1}^{\infty}$ is bounded, then $\lim_{n \to \infty} J_0(f_{n+1} - f_n) = 0$.

Evidently we can use our general scheme and extend J_0 to a "full subadditive" integral. The property (iii) is satisfied automatically since,

$$J_0(b) = J_0((b-a) + a) \leq J_0(b-a) + J_0(a),$$

white (iv) follows immediately from (v) and (ii).

Here we present only an example. Let \mathscr{S} be a σ -algebra of subsets of a set X, μ be a finite subadditive measure on \mathscr{S}, A be the set of all functions $f: X \to R$ which can be expressed in the form $f = \sum_{i=1}^{n} \alpha_i \chi_{E_i}, E_i \in \mathscr{S}, \alpha_i \in R, n$ positive integer. Put

$$J_0(f) = \inf \left\{ \sum_{i=1}^n \alpha_i \mu(E_i); f \leq \sum_{i=1}^n \alpha_i \chi_{E_i} \right\}.$$

Obviously (i) and (iii) are satisfied.

Let $f_n \in A$, $g_n \in S$, $0 \leq f_n \leq g_n$, $g_n \searrow O$. Put $h_n = \sup \{f_i; i \geq n\}$. Then $O \leq f_n \leq h_n \leq g_n$, $h_n \searrow O$. Put $G_n = \{x \in X; h_n(x) \geq \varepsilon\}$, where ε is an arbitrary positive number. Then $G_n \in \mathscr{S}$, $G_n \supset G_{n+1}$ (n = 1, 2, ...), $\bigcap_{n \to 1}^{\infty} G_n = \emptyset$, hence $\lim_{n \to \infty} \mu(G_n) = 0$. Finally, let $M = \sup h_1 < \infty$. We have

$$J_0(f_n) \leq J_0(f_n\chi_{G_n}) + J_0(f_n\chi_{X-G_n}) \leq \\ \leq M\mu(G_n) + \varepsilon\mu(X-G_n) \leq M\mu(G_n) + \varepsilon\mu(X) .$$

It follows that

$$0 \leq \limsup_{n \to \infty} J_0(f_n) \leq M \lim_{n \to \infty} \mu(G_n) + \varepsilon \mu(X) = \varepsilon \mu(X)$$

for every $\varepsilon > 0$, hence

$$\lim_{n\to\infty} J_0(f_n)=0.$$

Remark. Additivity can also be expressed in the general case:

$$J_0(a) + J_0(b) = J_0(a \cup b) + J_0(a \cap b);$$

$$a \leq b \Rightarrow J_0(b) = J_0(a) + J_0(b - a).$$

Now we should prove that also J is "additive". But corresponding results are known and they hold under weaker assumptions about \mathscr{S} (see [3]).

REFERENCES

- ALFSEN, E. M.: Order theoretic foundations of integration. Math. Ann. 149, 1963, 419-461.
- [2] RIEČAN, B.: On a continuous extension of monotone functionals of some type (Russian). Mat.-fyz. Čas. 15, 1965, 116-125.
- [3] RIEČAN, B.: On the extension of operators with values in linear semiordered spaces (Russian). Čas. Pěst. Mat. 93, 1968, 459-471.
- [4] DREWNOWSKI, L.: Topological rings of sets, continuous set functions, integration, I, II. Bull. Acad. Pol. Sci. 20, 1972, 269-286.
- [5] ALEXIUK, V. N.-BEZNOSIKOV, F. D.: Extension of continuous outer measure on a Boolean algebra (Russian). Izv. VUZ 4 (119), 1972, 3-9.

Received July 3, 1972

Katedra numerickej matematiky a matematickej štatistiky Prírodovedeckej fakulty UK Mlynská dolina 816 31 Bratislava